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Arith metc Sequence :

€qr . fo, 14,18, 22, 24, .4 . (s an arithmetic sequence,

12

Ay, Q,, 05,Qq, As, +«

DC"‘GH'HI'G'Ing an'fhme_h'c, -Sequcnce.f Anyy —Qn = k, where K is a Consf'ani' V (2] ? 1.
Sumot tirsk n +erms = (a,+an)n !
2

tan view sequence af as sefof Co-ordinates :
(1,10) (2)14) (3,18) (4,22) (5,26) in (x,y) form.
Conshant slope -> 4

Can represent this sequence as .Q Formula ¢ y=4x+ 6
Qr—=-Yiat1e g, =Un+6 = forms a discrete fae = n EN*

or

rrula,

1

ES_’ T q: qr =, .-
i) Find a formula for nth erm,
ii) find
i) Fird #he sum of the firsk 200 4erms.

ANns:

i)

Qiee - Find a formula for +he sum Of [st n +erms

On = mn+b _ :
m= 2 — Slope m= Qpey = Gn Hor any nENX
b=5

an=2nf5

i) Qaoe= 2(200) +5 = Hog

200
i) 2. ai

Geometric Sequence *

Ca. + aﬂ) n

(ai + 2n+5 )n
2
(F+5+2n)n
_ 2
2n* + {2n
C3
n*+ gn,

]

2

u

i as

g

1

2002+ 6(200),
4oo000 + 1200
L1 200.

.
i=

ratio_betw - any 2 Consecutive nuranrs/ terms Is Conskant.

= Some constant = b,

| as = Q3 = Q4 = -+ =  Qn+l
% | G2 | O3 a6

! I !
= “uEN SR T

Eg:l 4,12, 36 ... + | | ¥ | | |

= da

a)

'}Flnd i a‘ -Formula. 'For' 1"76 n‘ﬂ-l +erm i)

]

' #) And _q formula  for the Sum of first n terms Lol

= |3,
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Answepr, i) an= a,r" = LICS)n-'
eg Qj = 14[3)’
=12,
As = 4(3)% = 324

™\
N ' il »
ote : Qn = Q r‘"- QIVGS dlISCl’ﬁf‘e @cponen-h'ql -Formula - n€ N
IQ) n
# Z A; = Qn+ - Q
I=o _—
r-4
= a,r'” - Qi
n r-1
2 a = a n - = (3" -
i:b _—-' ( t_ 1) ? 3 ')-
-1 2
Dcﬁving lcormulqt Suppose Sn = aQ + ar + Ch"'l“' a,rn-l
Xr:. rSn = qr+ar®+ardit--. ar™ +ar”
rSa=Shn = aqr" —ar = Sn(r-1)
-1 Salr-1)=8Sn = ait"-ai = a(r-1)
-1 r-1. r-1
Arithmetc — Geometric Sequence.-' “)
Ea'. Suppase. Qn = qan-l —:?On-—z 3 a, T2
Q_z_ = 10-
Find a formula for Qn.,
Nete: 3= YHa, — 3a, = H(10) - 3(2) = 3y
ay = Haz — 3q; = H4(34) - 3(1p)
this '
A4 Sequence [ilce"hqs a Characleristc polynomiql Clag).
let a, =r"
Substitute J rn s qph-l ~igpnt2
= r""* (lowesk) ; P2 = 4 — 3 Gn = 0N 1 (3"
# rar"qr""3 =0 < :1 “;;S"‘
r.—__-[,r-_-.g h-| :~\::?§:; D 1) ¢ i
-z = - J T
i - - i :
base for geohwehﬁ: Sequence ¢ P C,
’?“AE"‘ 20;8 } ! { dn 7 =2 "L_;J ‘q‘\:i ",. L:“ l))
] ! 3 o
'A JJ! 7 n Tl 7.”. =
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59 ¢ Fbonqcct

Sequence
a"\ = qﬂ—._ + Qﬂ’l V naz
=1 a =i (uw,.
3! - -
‘ characteristic polynomial « ")
rm = "2 4 pn=~
- rn‘l ; r.ﬂ rn.z + rn,_‘
rn-a rn-2 —‘.—fili
rt = r4gwd
r*-r-1 = o
r= f+J/5 r= 1-Js
2 2 '—2*"
Qe o (1F)" 4 g, (125"
5 2.
let n+o, let nk 4.
Qe = G, t C?_ a, = C1(11J§)¢ + CZ(T'E)
. 1E €l b C 2
X - —+
(L5 1= ¢ (1475 )+ € (1-\/"5')
s =z i lkd
= -1-J5 = —(1f~fs")cl ~ (1 "‘JS—-)CL
2 ! 2 e j
Add:  —1-/F 44 --c, (1»r~/:;.—‘)+cl (1-45) v
2 a2 __2_
sl e <
e, = 5-J5
10
Cy = 5+J5
1o
an = 5B+/5 (‘HJ’E)" + 5-/5 (1—J§)
10 2 1o 2
: ' W
:
i - _i _ | A A T Y A A
T T T T 7T
1 i = % ‘ ; SR TR
. _:. + " g 3
— -r + — — g "— —+ -
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